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QUESTION 1

The HyperSnap functionality can be used to improve or optimize a company\\'s backup strategy. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

Which of the following storage devices are non volatile? (Multiple Choice) 

A. RAM 

B. Hard Disk 

C. Magnetic Tape 

D. DVD 

Correct Answer: BCD 

 

QUESTION 3

In HUAWEI OceanStor V3, for synchronous replication to be successful, all host applications must be pauzed during the
replication update process. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

Which of the following is not a characteristic of the Cloud? 

A. Ubiquitous Access. 

B. Shared pool of configurable resources. 

C. On Demand Self Service. 

D. Quick analysis of vast amount of data. 

Correct Answer: D 



 

QUESTION 5

Which of the following is a valid protocol for a UNIX-based NAS server? (Multiple Choice) 

A. CIFS 

B. NFS 

C. SMB 

D. Novell Control Protocol 

Correct Answer: ABC 

 

QUESTION 6

Which of the following statements is NOT true? (Multiple Choice) 

A. CIFS is a network-based sharing protocol. It has high demands on network transmission reliability, so it usually uses
TCP/IP. 

B. One disadvantage of CIFS is that Windows clients must be equipped with dedicated software. 

C. NFS is a stateless protocol while CIFS is a stateful protocol. NFS can be automatically recovered from a fault while
CIFS cannot 

D. Both the CIFS as well as the NFS protocol requires file format conversion. 

Correct Answer: BD 

 

QUESTION 7

In a SCSI connection, it is responsible to send SCSI commands to the target. Which of the following fits the above
description. 

A. Target. 

B. Initiator. 

C. LUN. 

D. Storage. 

Correct Answer: B 

 

QUESTION 8

Which of the following statements about SAS is false? 



A. SAS is a point-to-point, full-duplex, and dual-port interface, 

B. SAS drivers are incompatible with SATA controllers. 

C. SAS features high performance and high reliability compared with SCSI. 

D. SAS offers powerful scalability compared to SATA. 

Correct Answer: B 

 

QUESTION 9

Based on the understanding of the Generation stage of the lifecycle management of information and data, identify the 3
types of sources in which data can be generated. (Multiple Choice) 

A. External System Generation. 

B. Internal System Generation. 

C. External Input. 

D. Internal Input. 

Correct Answer: BCD 

 

QUESTION 10

Which command is used to query the version of a Red Hat Linux 5 operating system? 

A. show version 

B. find version 

C. cat version 

D. uname -a 

Correct Answer: D 

 

QUESTION 11

Statement 1: DAS solutions are islands of storage and that is why it is easy to make backups. Statement 2: Most SCSI
devices today use HVD technology. 

A. Statement 1 and 2 are true. 

B. Statement 1 is true; Statement 2 is false. 

C. Statement 1 is false; Statement 2 is true. 

D. Statement 1 and 2 are false. 



Correct Answer: D 

 

QUESTION 12

A traditional RAID 10 set always has an even number of disks. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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